
[image: image1.jpg]. A car leaves a 200 foot skid mark on grass ( Uf= 0.25) before coming to rest. How
fast was the car going?

7. A car hits a utility pole and is crushed 54 inches. If it has a crush stiffness of 1.7
mph/in, what speed was it going when it hit the pole?

8. Acarleavesa 50 foot skid mark on dry pavement ( up= 0.7) before hitting the
side of a bridge. If the car was crushed 3 in. (its crush stiffness is 1.8 mph/in),
how fast was the car going before it entered into the skid?

9. A 4300 pound vehicle traveling 35 mph hits a stopped vehicle weighing 3300
pounds. If both vehicles stick together in an inelastic collision, how fast will the
2 vehicles be going after the collision?

10. A 8000 pound SUV rolls down a hill. If the change in elevation is 1200 feet, how
fast is the vehicle traveling at the bottom of the hill? €enveré this to MmpH

11. A car leaves a 150 foot skid mark on dry pavement ( Uf = 0.7) before coming to
rest. How fast was the car going?

12. A car hits a utility pole and is crushed 44 inches. If it has a crush stiffness of 1.4
mph/in, what speed was it going when it hit the pole?

13. A car leaves a 150 foot skid mark on dry pavement ( u;= 0.7) before hitting the
side of a bridge. If the car was crushed 30 in. (its crush stiffness is 1.5 mpl/in),
how fast was the car going before it entered into the skid?

14. A 3000 pound vehicle traveling 45 mph ( left to right) hits a vehicle weighing
2300 pounds traveling 25 mph ( right to left) . This is an inelastic collision, how
fast will the 2 vehicles be goipg after the collision?

,

15. A 4300 pound vehicle traveling 55 mph ( left to right) hits a vehicle weighing
3300 pounds traveling 35 mph ( right to left) . This is an inelastic collision, how
fast will the 2 vehicles be going after the




[image: image2.jpg]GADLC 9.0

Mm_(’mﬁmnt Surface
825 Grass

0.4 Gravel

0.7 Paved road

> A graph can also be used to simplify the calculation. In Figure
5.1 simply read up verticaily from the length of the skid mark
to the line corresponding to the appropriate coefficient of
friction and read horizontally over to the speed that the
vehicle was going.
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> If the "vehicle comes to a complete rest, then its initial speed
can be read directly from the chart. If it was not at a stop at
the end of the skid or hit another vehiele, the additional
speed must be accou!tsd for.

> Here are two example;s asing a 2000 Toyota Camry ona
hichwav (in. =87
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REMEMBER

‘When the brakes are applied in a moving car, the car does not come ¢o
an immediate stop. In fact, it can travel some distance before it stops. The
distance that a car travels from the time that a driver applies the brakes =
until the car stops is called the braking distance. The distance thar acar
travels from the time that the driver decides to stop to the time he o she -
applies the brakes is called the reaction distance. (The car is assumed to be
traveling at a constant speed before braking.) The zotal stopping distance
is the sum of the reaction and braking distances.

The table below shows the various distances for different speeds. The -
table is one that may be shown in a driving manual. Metric units are
shown, along with their English equivalents.

Reaction and Braking Distances Versus Speed
 Original Reaction = Braking Total
Speed Distance Distance Distance
/s mph om0 m ft m i
10

16 35 12 38 20 67 105
20 45 15 49 34 110 49 159
25 55 18 60 50 165 68 225
29 65 22 7 70 231 92 302

The relationship between speed and the various stopping distances is
shown in the graph below.
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